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1.	 X = 
x

log 1
17

x–19 = log
x
 – 17x

–19
 = 17
19

Y = log
x
– 17x19

 = 17
19
-

Z = log
x 
19x–17

 = 1
1
9
7

-

X > Z > Y
Cevap: B

2.	 log
x
(e2Inx.100logx) =

log
x
(eInx2

.100logx)

log
x
(x2logee

.xlog100) = log
x
(x2.xlog102

)

	 = log
x
(x2.x2) = log

x
x4

	 = 4.log
x
x = 4

Cevap: B

3.	 log
a
b + log

b
a = 2

	
	 1	 1
log

a
b = 1   ise   a = b

a b
a b

a a
a a

a
a

2
2

2
2

3
3 1

+
+
=
+
+
= =

Cevap: C

4.	 log60 = log(22.3.5) = 2log2 + log3 + log5
	 = 2a + b + c

Cevap: D

5.	 f(x) = log
5
e5x

f|(x) = .
e
e

In In
5

5
1

5
5

x
x

5
5
$ =

Cevap: A

6.	 F(x, y) = log y
xc m

F(10, 100) = log 100
10  = log 10

1  = log10–1 = –1

Cevap: B

7.	 f(x) = log
5
(x – 2)

y = log
5
(x – 2)

x = log
5
(y – 2)

y – 2 = 5x

y = f–1(x) = 5x + 2
f–1(2) = 52 + 2 = 27

Cevap: D

8.	 x + y = 5 için
x = 3 alalım.
3 + y = 5	 y = 2   olur.
f(x) = log

a
(4x – a)  için

2 = log
a
(4.3 – a)

2 = log
a
12–a

a2 = 12 – a
a = 3

Cevap: D

9.	 f(1) = log
a
(31 – 1) = 1

log
a

2 = 1   ⇒   a = 2

log
a
4a = log

2
42 = 4

1

Cevap: E
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10.	 	

1

y = x
1

e2

A = x dx In1
e

1

2

=#
e2

1
= Ine2 – In

1

	 = 2
Cevap: A

11.	 log
12

24 = log
log

log log
log log

12
24

3 4
3 8

2

2

2 2

2 2
=

+

+

	 = log log
log log

x
x

3 2 2
3 3 2

2
3

2 2

2 2
+

+
=
+
+

Cevap: B

12.	 log
x
4 = 3   ⇒   x3 = 4   ⇒   x = 43

log
2
x = y   ⇒   log

2
43  = log

2
2 3
2

 = 3
2  = y

3x3.y = 3. 43 3^ h . 3
2  = 3.4. 3

2  = 8

Cevap: D

13.	 log
x
2 = log

2x
8

log
x
2 = log x2

1
8

log
x
2.log

8
2x = 1

log
x
2.log

2
32x = 1

log
x
2. 13 .log

2
2x = 1

log
x
2x = 3   ⇒   log

x
2 + 1 = 3

	 ⇒   log
x
2= 2   ⇒   x2 = 2

	 x = ñ2
Cevap: B

14.	 log
6
40 = log

6
5 + log

6
23 = log

6
5 + 3log

6
2

	 = log log6
1

6
3

5 2
+

	 = log log log log2 3
1

2 3
3

5 5 2 2+
+

+

	 = log log log2 3
1

1 3
3

5 5 2+
+
+

      ………… 1

log
3
2 = a

log
9
5 = b   ⇒   log

3
25 = b   ⇒   12 log

3
5 = b

	 ⇒   log
3
5 = 2b

	 log
3
2	 = a

	x   log
5
3	 = b2

1

	 log
5
2	 = b

a
2

O halde 1  de yerine yazılırsa

= 

b
a

b a2 2
1

1
1 1
3

+
+
+

= a
b

a
a

a
b a

1
2

1
3

1
2 3

+
+
+
=

+
+

Cevap: E

15.	 log
3
8 = x   

log log
log

log
log log x24 9

24
3

3 8
2

1
9

3

3

3
2

3 3
= =

+
=
+

Cevap: E

16.	 log
2 
3 . log

3 
4 . log

4 
5 . … . log

63 
64

= …log
log

log
log

log
log

2

3

3

4

63

64
$ $ $

= log
log

2

64  = log
2
64 = log

2
26 = 6

Cevap: C
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17.	 log
4
a + log

2
b = 2

5

log
4
b − log

2
a = 2

1

log
4
a + log

2
b = log

2
2a + log

2
b = 2

5
-

log loga b2
1

2
5

2 2$ + =

log loga b2 52 2+ =

log
4
b – log

2
a = 2

1

log
2
2b – log

2
a = 2

1

2
1 log

2
b – log

2
a = 2

1

log logb a2 12 2- =

     2/	 log
2
a + 2log

2
b	 = 5

	 log
2
b – 2log

2
a	 = 1

	 2.log
2
a + 4.log

2
b	 = 10

+	 log
2
b – 2log

2
b	 = 1

	 5.log
2
b	 = 11

	 log
2
b	 = 5

11    ⇒   2 5
11

 = b

log
2
b – 2.log

2
a = 1

5
11  – 2.log

2
a = 1

5
11  – 1 = 2log

2
a

5
6  = 2log

2
a

5
3  = log

2
a

a = 2 5
3

a3.b = .2 25
3 3

5
11c m

	 = .2 2 25
9

5
11

5
20

=  = 24 = 16

Cevap: D

18.	 log
abc

b = 3
log

abc
c = 4

log
abc

a = x
log

abc
a.b.c = log

abc
a + log

abc
b + log

abc
c

	 1	= x + 3 + 4
	 1 – 7	= x
	 –6	= x

Cevap: B

19.	 log
2
 x = 5	 25 = x	 x 32=

log
ñ3

 y = 4	 (ñ3)4 = y	 y 9=

x + 2y = 32 + 2.9 = 32 + 18 = 50
Cevap: A

20.	 log
7
35 = log

7
5 + log

7
7

	 = a
1  + 1 = a

a 1+

Cevap: B 


